CLEVELAND PUBLIC LIBRARY

Finance Committee May 19, 2015

RESOLUTION TO PURCHASE RADIO SYSTEMS FOR CLEVELAND PUBLIC LIBRARY SAFETY & PROTECTIVE SERVICES

- WHEREAS, On October 18, 2012, the Board of the Cleveland Public Library authorized to purchase the necessary radios with accessories from Motorola Solutions needed to join Multi-Agency Radio Communications System Program Office (MARCS) in the amount of \$71,536.00; and
- WHEREAS, The process of implementing staffing changes to the Department of Safety and Protective Services has added additional staff to the Department and it is in need of eleven (11) additional radios; and
- WHEREAS, The Property Management department requested quotes from (3) vendors and received the following:

Motorola Solutions \$35,252.25 B&C Communications \$35,252.25 Bender Communications \$35,318.25

- WHEREAS, Property Management recommends the purchase of the radios directly from Motorola Solutions; now therefore be it
- RESOLVED, That the Board of Trustees authorizes the Executive Director or his designee to enter into a Purchase Agreement with Motorola Solutions, subject to approval of the Chief Legal Officer, to purchase eleven (11) radios with accessories in the amount of \$35,252.25 with the expenditure being charged to the General Fund Account 12930055-55520 (Equipment).



Equipment Proposal Address: 12430 Plaza Dr. Parma, OH 44130

Prepared By: Sean P. Prude Phone: (216) 245-3515

Fax: (216) 433-0462

DATE:

Feb. 10, 2015 QUOTE #: CPL Protective Services Quote 2_10_15

CUSTOMER#:

PREPARED FOR: Daniel Gearhart

COMPANY: Cleveland Public Library

BILL TO: ADDRESS:

SHIP TO: ADDRESS:

FAX: EMAIL:

Equipment Details and Pricing

Qty.	<u>Item</u>	<u>Description</u>	Unit Price	Total Price
11	H98UCD9PW5 N	APX6000 7/800 MHZ MODEL 1.5 PORTABLE	\$ 1,707.00	\$ 18,777.00
11	QA02756	ADD: 9600 TRUNKING OR 3600 DIGITAL TRUNKING	\$ 1,177.50	\$ 12,952.50
11	QA01749	ADD: ADVANCED SYSTEM KEY - SOFTWARE KEY	\$ -	\$ *
11	QA01768	ENH: ENHANCED ZONE BANK	\$ 54.00	\$ 594.00
11	PMLN5657	APX 6000 Leather Carry Case with 2.75" swivel	\$ 48.75	\$ 536.25
11	PMMN4062A	IMPRES RemoteNoise Cancelling Speaker Mic	\$ 80.25	\$ 882.75
11	RLN4941	Receive-Only Earpiece with translucent tube and rubber eartip	\$ 43.50	\$ 478.50
11	WPLN7080	IMPRES Single-Unit Charger	\$ 93.75	\$ 1,031.25

All Prices Quoted Per State Term Schedule #573077-0-1. Please reference STS# on PO.

QUOTE PAGE TOTAL

\$ 35,252.25



COMPANY: Cleveland Public Library

Equipment Proposal Prepared By: Patrick Baron

Address: 5321 Commerce Pkwy W

Phone: (216) 362-8104

Fax: (216) 362-8116

BILL TO: ADDRESS:

SHIP TO: ADDRESS:

Phone: Fax:

PREPARED FOR: Daniel Gearhart

		Equipment Details and Pricing			
Qty.	Model #	Description	<u>Uı</u>	nit Price	Total Price
11	H98UCD9PW5N	APX6000 7/800 MHZ Model 1.5 portable	\$	1,707.00 \$	18,777.00
11	QA02756	ADD: 9600 or 3600 Trunking	\$	1,177.50 \$	12,952.00
11	QA01749	ADD: Advanced System Key	\$	- \$	-
11	QA01768	ENH: Enhanced Zone Bank	\$	54.00 \$	594.00
11	PMLN5657	APX6000 Leather Carry Case w/ 2.75" swivel	\$	48.75 \$	536.25
11	PMMN4062	IMPRES Remote Noise Cancelling Spkr Mic	\$	80.25 \$	882.75
11	RLN4941	Receive only earpiece w/ translucent tube and rubber eartip	\$	43.50 \$	478.50
11	WPLN7080	IMPRES Single Unit Charger	\$	93.75 \$	1,031.25

All Prices Quoted Per State Term Schedule #573077-0 without additional discount & promo until order placement. Please reference STS# on PO.

QUOTE PAGE TOTAL \$35,252.25

DATE: Feb, 25th 2015

QUOTE #: CPLapx2015

CUSTOMER #:





Quote Number:

QU0000311317

Effective: Effective To:

25 FEB 2015 26 APR 2015

Bill-To:

CLEVELAND PUBLIC LIBRARY

325 SUPERIOR ST.

CLEVELAND, OH 44114

United States

Ultimate Destination:

CLEVELAND PUBLIC LIBRARY

325 SUPERIOR ST.

CLEVELAND, OH 44114

United States

Attention:

Name: Daniel Gearhart

Email:

dgearhart@cpl.org

Sales Contact:

Name: Frank Cody

Email: fcody@bendercomm.com

Phone: 4195312844

Contract Number:

OHIO STATE

Freight terms:

FOB Destination

Payment terms:

Net 30 Due

Item	Quantity	Nomenclature	Description	Your price	Extended Price
1	11	H98UCD9PW5AN	APX6000 7/800 MHZ MODEL 1.5 PORTABLE	\$2,944.50	\$32,389.50
la	11	QA01648AA	ADD: ADVANCED SYSTEM KEY - HARDWARE KEY		
lb	11	QA02756AA	ADD: 9600 TRUNKING OR 3600 DIGITAL TRUNKING		
c	11	QA01768AA	ENH: ENHANCED ZONE BANK		
2	11	PMLN5657B	CARRY ACCESSORY-CASE,APX6000 CC 2.75 SWLBL 2900&2150MAH	\$48.75	\$536.25
3	11	PMMN4062A	ASSY,ACCESSORY,MICROPHONE,PLU S RSM *	\$80.25	\$882.75
ı	11	RLN4941A	REC ONLY EARPIECE W/TRANSLUCET TUBE	\$43.50	\$478.50
	11	WPLN7080A	CHR IMP SUC EXT US/NA/CA/LA	\$93.75	\$1,031.25

Total Quote in USD \$35,318.25

PO Issued to Motorola Solutions Inc. must:

>Be a valid Purchase Order (PO)/Contract/Notice to Proceed on Company Letterhead. Note: Purchase Requisitions cannot be accepted

>Have a PO Number/Contract Number & Date

>Identify "Motorola Solutions Inc." as the Vendor >Have Payment Terms or Contract Number

>Be issued in the Legal Entity's Name

>Include a Bill-To Address with a Contact Name and Phone Number

>Include a Ship-To Address with a Contact Name and Phone Number

>Include an Ultimate Address (only if different than the Ship-To)

>Be Greater than or Equal to the Value of the Order

>Be in a Non-Editable Format

>Identify Tax Exemption Status (where applicable)

>Include a Signature (as Required)